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Q-1 (A) with the help of differentiation, derive the equilibrium conditions of producer producing two 09
commodities in discriminating monopoly.
Mgl ugeell Groiisd Soruml A wqplle Geuter 12l Geesell el ardl dRdl.
(B) Narrate the usages of differentiation in economic analysis. 04
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Q-2 (A)

(B)

20135 Radugui Bl Guwibl 4l

I 5 demand function of a commodity is “D=100-2P" then find out (Ep = Price elasticity of demand) : 05
oL 3l el wint (8L “D = 100 — 2P dlA dl i (Bp = wiawll yeadl) |

(1) Price elasticity of demand uioldl es Ul
(2) Price of a commodity when Ep = -} artiR Ep = -1 €14 AR el Bd
(3) Price of a commodity when Ep <-1 o5 Bp < -1 §i4 AR drell Bud
(4) Price of a commodity when Ep > -1 ol Ep > -1 €4 it drdedl Bud
(5) Check the possibility for P = 50 P = 50 €lall 28440 U514
OR (vgdl)
Using the differentiation, explain the concept of investment muliplier. 05

[saisteil GuiaL 5804 udRisua sl v nendl,

With the help of differentiation, explain the relationship between Average Cost and Marginal Cost. 04
Rsartd ueedl wiria wid v dluid Wl 42ddl doft auedl, '

A firm is selfing its product in two different markets at differcnt prices. The demand function in both 05

the markets and total production cost function are as follows. Using this information find out price of

a commodity in both the markets and total profit of a firm.

215 U4 A< Geuleel 6L oyel-syL ointR] Aedl-vtedl ud 428, b4k o] HioL B8 A 4 Grulg v

a8y, <13 yoret €9, w Mudledl Gl 584 oieed ettt e {l B 2l W41l gt A5l WAL
Py =100 - 5%
P, =150 - 20X,
C =100 + 20X, + 15X,
X +X=X

} Inverse functions of demand RiRlL o4d (484

Explain the concept of consumer equilibrium using differentiation. 04
Rl Guiol 5303 aessell wugeedl vaue yuondl

Give the meaning of correfation. Explain the types of correlation with the help of scatter diagram and 07
coefficient of correlation.
asaloitiel wid L0l mioltisell sl AGH w15l 2t ugdivitisel) Heell wuondl,

The coefficient of rank correlation of the marks obtained by 10 students in Micro Economics and 04
Marco Economics was found to be 0.5. Tt was later discovered that the difference in ranks in the two
subjects obtained marks by one of the students was wrongly taken as 3 instead of 7. Find the correct
coefficient of rank correlation.

10 Gl sisuad siars, »d woied wlues 30da gl suis wisiis 0.5 oyaal el
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What is probable error and how it can be used to interpret the coefficient of correlation explain with 06
illustration.
ol 51 128 1 T dsrioiisedt i A 3l A Guall 8 d Gewsagy Ulgd, yronedl.
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Natrate the assumptions, merits and limitations of Karl Pearson’s coefficient of correlation. 05
16, Bl saloltisell tuRanel, Al i el aid 11

State the steps to find out rank coefficient of cotrefation. 03
suis wuRioltls AL H2AL WLl oxdul

(iii) The number of students obtaining different marks in Quantitative Economics and Public Economics (9

Q-3 (&)

(®)
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Q-3 ()
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are given in the following table. Calculate the Karl Pearson’s coefficient of correlation between the
marks obtained in the two subjects.

il Ssud uRHMIEIs AnRA i R daioml BN g HASAR Reuellilell wva vl
wiicll 3, 61 it Andie, oy izdletl s1d (Raieteil wsaioftls UL

Marks i Public Economics | Marks in Quantitative Economics (4RSI HA0RANL Q) |
(&R AFRARL AR § 3040 40 - 50 50— 60 60 - 70
30 -40 3 ! 1 -
40 =50 2 6 1 2
50 - 60 1 2 2 i
60 70 - 1 1 1

Explain the conditions for consistency of data and frequency proportion method for determining the 08
types of association of attributes with apptopriate illustrations.
rlsclefl 2ioldettell Badl 243 apetiens il sl sl s midl waf el d 4oy Geledl

Weedll yuendi,

Calculate correlation coefficient and regression coefficients from the following data. Estimate the 97
value of Y when X = 13.

) el wzel] useiciatls A7 Rdaioitisl el 82 s X =13 €L AR Y yet AL

X 2 4 6 8 10 12 14
Y 4 2 5 10 4 Il 12

Explain the concept of regression line and state the characteristics of regression line fitted by least 03
square estimation method.
Clfaiol, Toatell vale Aol ot < ol AL Wl AR Tuaami udd Rudiol Wil

i spaudl,
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Explain the concept of Association of attributes with appropriate illustration. Discuss the types of 04
association of attributes on the basis on Yule’s Quotient.
il 2fofitell vl Aion Gelr Al yHnnil. 4l wAlseil SR ARleds UotHell Rl w4l 2.

If (AB) = 20, (A) = 46, (B) = 40 and N = 80 then using expected frequency method determine type 06
relationship between atiributes (1) A and B, (2) A and B, (3) wand Pand (4) o and B.

o7l (AB) = 20, (A) = 46, (§) = 40 and N = 80 G dl v sl adl Gulal 84 el
(1) A%l B, (2) AW, (3) o 8l B ey (4) o 27 B 22l oAl UstR A8 82, -

What is meant by Regression ? How it can be useful in economic analysis ? What is the difference 08
between correlation and regression analysis? '
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Q-4 (A) What is index number ? Discuss the various types and assumptions of index number in detail,
asolls 9128 9 2 yasellsl BRY usdl 2 wRelAL Brdd 3l 2.

05

(B) Construct the cost of living index number from the following data for year 2018 with the year 2015 08
as base by the family budget method and aggregate expenditure method. (Price are per unit) '

A3 1L weel] 201541 a9 AR o5 @ 201841 Al waARidls vl s, HZ0 vizient

(3l tsvz) ot e il 93 L, (Bud 2lsudls 8)

Commodity | Quantity (%2l | Price ((ud)

Rgll 2018 2015 12018
Wheat (60) 5 Qtl, (sdlza) 2200|2800
Bajara (slsrdl) | 2Q1L (sflee) 2000 {2500
Jowar (534R) | 1 Qtl. (sellest) 1800 | 2100
Moong (W) | 1Qtl. (slze) 4000 | 5200
Ghee (d) 10 Kg. (& ul) 360 540
Gur (ol 40Kg, () 35 55
Sugar (i8) | S0Kg. (B ) 23 35
Salt (+{18) 10 Kg. (5 a) 12 22
Fuel (¢d@) | 5 Qtl. (sdleat) 3300 | 3800
Rent (&) | House (Msl-l) | 3500 {5500

(C) Discuss the time reversal test and factor reversal tests for Marshall — Edgeworth’s price index.

Wil — Floyail Bud wasols Wiz e Bl i ve Bl sl wat L

Q-4 () What is meant by cost living index ? Discuss the various problems in Construction of this index.

OR (vA8ct)

epeitls vl 2dis 3128 g7 2l yaselisl @Al AR wurapdldl 24l A

(i) Construct the ideal index number for the following information and prove that why it is ideal?
AR R W2 v yasollsdl @ 58 wA d 4R 2ued 8 4 Wb 5,

Commodity 2011 2018
AR, Quantity {sveell) | Value (4&4) | Price () | Value (4&d)
Sugar (W) 25 750 45 2250
Food Grains (¥115¥¢) 13 300 25 750
Fuel {6loLd%) 20 1400 80 3200
Clothes (s430) 5 2000 500 5000
Miscellaneous (UR34R%) 100 6000 80 16000
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